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1) If f (x) is a differentiable function, then f '(x) =
@I f (x +h)—f (x) @ Iimf(x+h)+f(x)
h—>0 x —0 h
. f(x+h)+f (x) . f(x+h)—f (x)
i a] tim =
2) If f (x)=4x?, then f '(x)=
2 2 2 2
Ing4(x +h)*—(4x°) @ Iin34(x +h)*+(4x°)
_4A(x +h)*+(4x?) _4(x +h)*—=(4x?)
= d tim =

3) If f (x)=x?-3,then f '(x) =

@ Im[(X +h)? —3] [X —3] @ Iim[(X +h)2_3]+[x2_3]

x =0 x =0 h

a IIm[(x +h)? —3] [x?-3] q Ilm[(x +h)? —3] [x*-3]
4) If f (x):«/x_,x >0, then f '(x) =

[a] lim Vx +h —Vx b] Iimm_JX—
ol h h—>0 h

[d] 1im

X —0

«/x +h +Xx X +h +x
h—>0 h

5 Iff isa dlfferentlable function at a, then
@ f is a continuous function at a

@ f is not a continuous function at a

6) If f is a continuous function at a, then f 4 differentiable function at a

@ True @ False

7) Ify=x*+5x>+3 ,then y'=
[a] 4x°+10x? b] 4x®-10x c] 4x® —10x 2 [d] 4x®-+10x

8) If y=x*-5x?+3,theny’'=
[a] 4x3+10x b] 4x3®-10x c] 4x 5 —10x 2 [d] 4x°+10x?




9) If y=x "7, theny’'=

_§X_% EX_% —§X% _EX_%
a]

2 2 2 2

10) If y=3—13+2x/x_=%x3+2x%=,then y'=
X

1 1 1 1 1 1 1 1
i bMerm Beerm Weew

X X X

1) If y =(x =3)(x —2), then y'=

[a] 2x +1 b]2x -1 c]2x +5 [d] 2x -5

12) If y =(x*+3)(x*-1),then y'=
[a] 5x*—3x2+6x [b]5x*—x2+6x [c]5x*—3x? [d] 4x3—3x2+6x

13) If y =X (2x +1), then y' =

2X +1 2X +1 X +1 2X +1
2\x + 5= 2\x + 5= c]2x + 2= N
2| Jx b) 2% Jx d 2%

14) If y :X_i’,then y'=

- —1 bl - —> c] —> ] —t

 (x —2)? (x —2)? (x —2)? (x —2)?
X +3
15) Ify = theny’| =
) Ify="— theny’] ,
1 5 5 1
G- B-2 g @l
16) Ifyzx—_l,then y'=
X +2
3 1 3 1
- - — cl| — S
@(x +2)? @ (x +2)° (x +2)° @ (x +2)°

17) If y =+/3x?+6x ,then y'=
6(x +1) E X +6 3(x +1) @ X +1
\3x 2 +6X \V3x %2 +6X \J3x %2 + 6% 2+/3x 2 + 6X

18) If y =y/3x*+6x ,then y'| =
de B B: @1

19) The tangent line equation to the curve y =x*+2 at the point (1,3) is
@ y =2x -5 @y=—2x+5 y:2x+1 @y:ZX—l




a]

. . 2 . :
20) The tangent line equation to the curve y :x—xl at the point (0,0) is
+

y=-2x  bly=-2x+1  [Jy=2x  [d]y=2x-1

a]

21) The tangent line equation to the curve y =3x*—13 at the point (2,-1) is
y =6x —7 Eyzlzx -3 y=—12x +23 @y=12x—25

22) The tangent line equation to the curve f (x)=3x’+2Xx +5 at the point
(0,5) is

@ y =—2X +5 Ey:—2x+5 y=2x—5 @y=2x+5

a]

23) If y =xe”*,then y'=

X +e* b] 1+e* xe* +1 [d] e*(x +1)

a]

24) If y=x—e*,theny”=

e @ —* 1—eX @ 1+e”

a]

25) If x*—y?=4 then y'=

I S IS
X y y X

a]

26) If x*+y°=4,theny’'=

YR X @Y
X y y

X

27) Ify :X—+1,then y'=
X +2

1 3 3 1
- - cl — - -
g (x +2)° bJ (x +2)° (x +2)° d (X +2)°
28) If y :L+secx ,then y'=
5, 5,
a] —X /t—secx tanx b] —- Xt +secx tanx
5 _, 5,
_EX > +5ecX tanx [d] —X /* —esex cotx
29) If y =tan"*(x®), then y'=
3x 2 3x 2 3x 2 3x 2
- - C
a 1+x° b) 1+x° 14x° d] 1+x°
30) If y =tanx —x ,then y'=
[a] sec?x [b] sec?x —1 —sec?x -1 [d] secx?-1




31) If y =sec’x —1, then y'=

[a] 2sec?’x tanx  [b] sec?x tanx

2secx tanx

[d] —2sec?x tanx

32) |f y :XSi”X,then yr:

inx | SINX
@ xs'”x[ + COS X Inx}
X

inx | SINX
x X [——cosx Inx}
X

sinx

B[

+COSX Inx}

inx | COSX .
@ X S [——smx Inx}
X

COS X

33) Ify= ,then y'=

sinx
@ X | ——+cosx Inx
X
 cosx | COSX
X

+sinx|nx}

COSX
X

Bl

—sinx Inx}

COSX .
@ X %% [——smx Inx}
X

34) If y =(2x2+cscx)9, then y'=
@ 9(2x ? +CsCX )8(4x —CSCX COtX )

9(2x ? 4 CsCX )8(4x +CSCX COtX )

o] 9(2x ? 4 cseX )8

[d] 36x (2x ? 4 cscx )8

X

35) If y= >
cotx

,then y'=

@ 5 (cotx +csc® X )

o]

5¥ (InSCotx +csc’ X )

cot?x

5 (cotx —csczx) @

cot?x

5 (InSCotx —csc?x )

cot?x

cot?x

36) If y =e*,then y© =

a] 1280 b] 1602

64e > [d] 32¢*

37) Ify =x %™ then y'=
[a] x %™ (x cosx —2)

-3, sinx

X e (x cosx —1)

b] x %
[d] x %

-3, sinx (COSX _2)

-2 sinx

(x cosx —2)

38) If y =5 then y'=
[a] 5 sec?x In5  |b] 5™ sec®x

5" sec’x In5

@] 5 Ins

4




39) If x2+y2=3xy +7,then y'=

2X +Yy b] 3y —2x
3X —2y 2y —3X

a]

2X
3-2y

]

40) If y =sin®(4x), then y'=

@ 4cos’(4x )

12sin®(4x )cos(4x )

@35in2(4x )cos(4x )
[d] 12sin?x cosx

41) If y =3 cotx , then y'=
@ 3*In3cotx +3* sec’x
3“ cotx —3* csc? x

@ 3* cotx +3*sec?®x
@ 3*In3cotx —3* csc? x

42) If y =(2x2+secx)7,then y'=
la] 7(2x* +secx)6
7(2x ? +seCX )6(4x +secx tanx )

b] 7(2x* +secx )6(4x —secx tanx )
[d] 28x (2x ? +secx )6

43) If f (x)=cosx,then f ®)(x)=

@sinx @—sinx COSX @—cosx
44) DY (sinx)=

@sinx @—sinx COSX @—cosx
45) If y =x",then y'=

[a] 1+Inx b]x*@+Inx) c] x* [d] x* Inx
46)  Iff (x):IQ—)Z(, then f (1) =

a] 1 b] 4 0 d]2

47) If y =cot™(e"), then y'=

e’ 1 o
el 1+e” b 1+e* ] - 1+e d] 1+e*
48) If y =tan(e* ), then y'=
e’ 1 o
IEI_ l+e2x IEI 1+ezx IEI 1+e
49) If y =sin (e*) then y ' =
1 o 1
— _
@ 1_62x IEI ; e - . 1_e2X IEI 1_62x




50) If y =cos™(e” ), then y'=

1 e* e* 1
_ _
@ 1_e2X IE fl_eZX . 1_e2X @ 1_e2X
51) If y =cos(2x?),then y'=

[a] 6x ?sin(2x ) [b] —6x *sin(2x?)

—6sin(2x *) [d] —6x sin(2x?)

52) If y =cscx cotx ,then y'=
[a] csc®x —csex cot?x [b] cscx ®+cscx cot?x
—csc®X —CsCX cot? X [d] —csc®x —csex cotx 2
53) If y :\/x2 —2S€ecX ,then y'=
A X —Secx tanx X +Secx tanx
2/x 2 — 2secx 2/x 2 — 2secx
X —Secx tanx il X +Secx tanx
Jx % = 2secx Jx 2 = 2secx

54) ify =(3x°+1)° ,then y'=
[a] 6(3x*+1)° b]36x (3x * +1)°

36(3x°+1)°  [d] 6x (3x*+1)°

55) If Xy +tanx =2x°+siny ,then y'=
6X > —y —sec’ X 6X > +Yy —Ssec’ X
X —COSY X —COSY
6X ° —y +5ec’ X X —COS
! e —
X —COoSYy 6X “—Yy —sec” x
56) If Yy =X "SecX ,then y'=
[a] —x ?secx +x *secx tanx [b]x ?secx —x "secx tanx

[c] -x ?secx —x tsecx tanx [d]x ?secx +x 'secx tanx




57) If y =sin™*(x°), then y'=

3x 2 3x 2 3x 3x
= - = cl —
@x/l—xe @ J1-x°© 1—x° @ 1-x°

58) If y =cos™(x°), then y'=

3x ? 3x 2 3x 2 3x 2
_ _
@x/l—xﬁ E J1-x°© . 1—x° @ 1-x°

59) If y =sec™*(x*), then y'=

3 3 3 3
[a] b} - —= [c] - ld]
XX — XAx° =1 Xax° =1 XX —

o

R

60) If y =csc*(x*®), then y'=

a—— bl-—e -2 2

XX -1 Xx° -1 Xxx6-1 Xx° -1
61) If y=In(x®—-2secx),theny’'=
A X 2 —2secx tanx 3x 2 —2secx tanx
X 3 —2secx X 3 —2secx
a 3x 2 —2secx [d] 3x 2 +2secx tanx
X —2secx X 3 —2secx
62) If y =In(cosx),theny’'=
[a] tanx b] —tanx [c] cotx [d] —cotx
63) If y=In(sinx),theny’'=

[a] tanx b] —tanx [c] cotx [d] —cotx

64) If y =Iny3x?+5x ,then y'=

6Xx +5 @ 6Xx +5
3x % +5x 2(3x ? +5x)
6X +5 @ 6X

(3x?+5x)In5 2(3x ? +5x)




65) If y =log,(x°—2cscx),then y'=

A 3x 2 +2CsCx cotx 3x 2 —2cscx cotx
x3—2cscx In5 (x3—2cscx)ln5
3x 2 +2CsCX cotx 3x 2 +2csCx cotx
X % —20SCX (XS—ZCSCX)|I’15
X —
66) If y =In——,then y'=
) Ty =ing—g teny
@ X +5 @ X +5
2(x =D(x —2) x =D(x —2)
X =5 X
c
2(x =D(x —2) @ 2(x =D(x —2)
67) If y =2x°—sinx ,then y'=
[a] 6x%+cosx [pb] 6x2-cosx 3x 2 —cosx [d] 6x 2 —sinx
68) If y =x°cosx , then y'=
[a] 3x2cosx —x3sinx [b] 3x2cosx +x°sinx
3x “cosx —x sinx [d] 3x 2sinx

69) Ify =x ¥ then y'=

) Bee() ol m(te

70) If y =(sinx ), then y'=
a] (sinx)* (In(sinx ) —x tanx ) @(Sinx)x(ln(sinx)+xtanx)
(sinx)* (In(sinx ) +x cotx ) [d] In(sinx)—x tanx

71) If y=log,(x°—2),theny’'=

X 2 3x 2 1 3x ?
[a] b] ld]

(x3—2)ln7 x3—2 (x3—2)ln7 (x3—2)ln7

72) If y =cos(x®), then y'=
[a] 5x“*sin(x®) [b] 5sin®(x)

—5x *sin(x °) [d] x ®sinx +5x *sinx




73) If y =secx tanx , then y'=

[a] secx®+secx tan?x [o] sec®x +secx tan?x
sec®X +Secx tanx 2 [d] sec®x —secx tan?x
74) D*(cosx) =
@ sinx E COS X —sinX @ —COS X
75) If y =(x +secx)®, then y'=
@ 3(x +secx)’(1+tanx) E 3(x +secx )*(1+secx tanx)
(x +secx )?(1+secx tanx) @ %(x +secx)*(1+secx tanx)
76) If x> =5y*+siny, then y'=
2 2 2
ey Moy Yiiey Uaiey
77) If x*>-5y?+siny =0, then y'=
2 2 2
ey Moy Yiiey Uiy
78) If y =sinx secx ,then y'=

@ sinx tanx +1 Eseczx sinx tanx —1 @ sinx secx tanx —1

79) If f (x)=sin’(x®+1), then f'(x)=
@ 6x *sin(x * +1) cos(x * +1) E 3x ?sin(x * +1)cos(x * +1)

—6x 2sin(x * +1) cos(x * +1) @ 2x Zsin(x * +1) cos(x * +1)

80) If y =(x +cotx)®, then y'=
@ 3(x +cotx )*(L+csc’x) E 3(x +cotx )*(L—csc®x)

—3(x +cotx)*(L—csc®x) @ (X +cotx)*(1—csc®x)

81) Ify =tan‘1(%), then y' =

] -~ b] -2 ] - -2 4] ———

4+4+x° 44x° 4+x° 4_x2




82) If y :cot‘l(%), then y' =

4 2 1
@4+x2 E 4+x2 .  44x?2 @ 4_x2
83) Ify :sin‘l(xgj, then y'=
3 X . 1 1
al | - [d]
J9+x?2 9—x?2 9—x? 9—x?2
84) If y :cos‘l(—j, then y'=
@ 3 X 1 @ 1
C —
J9+x?2 9—x?2 9—x? 9—x?2
85) D¥(sinx) =
@ sinx @ COSX —sinx @ —COSX
d . d oo oos d
&(k)_o, k eR ™ u")=nu » )
[kf COI' =kIf (X)I'; (k eR) [f (x)£g ()] =f"(x)+g'(x)
[f )g Ol = (x)g'(x)+f "(x)g(x) [f (X)] ,_900f ') - (x)g'(x). © g(x) =0
g(x) [g (<))
d, . du d . du
—(sinu) =cosu— —(cosu) =—-sinu—
dx dx dx dx
i(tan u) =sec’u du d (cscu) =—cscucotu du
dx dx dx dx
i(secu) =secutan ud—u i(cotu) = —Csc’ ud—u
dx dx dx dx
@ ey _er 01 EIRET
&(e)—e i dx(l u)= ( )
d d d 1
d—(a“):(a“ Ina)— o (log, u) = ()
dx ulna’ dx
d o d . d du B
—(sm u)= \/_ d l<u<l ™ (cos™u) = \/_ vy l<u<l
d—(tan’lu)z ! —0<U <o d—(cot’lu)— 1 —0<U <o
dx 1
d 1 du d 1
—(sectu) = —); |u[>1 —(csctu) =— —); ul>1
3= G i Tl(dx) u
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